.

| PART - | / ¥pr - 4
REASONING & NUMERIC ABILITY / 6 T Y

Study the given diagram carefully yng !
answer the question. The number i, different

sections indicate the number of differeny types |

of extra-curricular activities taken by total 30

ass IX of xyz

students of six sections of ¢]

school.

Instrumentnl

2%

~,

What is the percentage of students who havye

Da.nce Singing

opted for both dancing as well as singing
lessons ?

(1) 8.78%
2 7%

B) 7.66%
4) 8.00%

A statement, showing relationships between

1.

different elements, is given followed by four
conclusions I, II, III and IV. Assuming the
statement to be true to decide which of the
conclusions is/are definitely true.

Statement : F=2G<O=M=N=Q

Conclusions: 1. N<G
II. G<M
III. Q=M
IV. O>F
(1) Only conclusions II and IV are true
(2) Only conclusion I is true
(3) Only conclusion II is true
(4) Only conclusions I'and III are true

EYE

RI-2023 foers

|
|
|
|

few o Tt (S B o ot s
W W I A Ao o § @ m
N XYz faemem & #ar 1x % vz dwrdi ¥
F4 300 fanfat % zry fafusy gm =
WETRATR it & wifire 2 =i 21

123

\% 85 ara
'@%W

[ ¢
s

}F’ ipc

2\).3*00Q

17
)@%Hﬁmﬁaﬁﬁ%aﬁ#ﬂwﬁﬁf%m
(Toreron) =1 famreg g 32 TS

3 & 9&";’

(1) 8.78% 8\ " 8\
@ 7% Zeo =
(3) 7.66% nEL

| @ 8.00% o= '

2. ﬁfwaﬁ(mﬁ)%mﬁa‘uwﬁﬁamw

o a1 T € SR 9 e =R e LI
IV few 1w & o5 AR fir femn T e
T ¢ o i wifse e S wyQ fred

e IR W w872
S F?G<OSM=N£Q
Ffepd: 1. N<Gv~
I G<M ~
L Q=< M«
IV. O>F
(1) Fea Frepd 1 el v o )
) Faa Frewd 1w )
(3) <ad Frerd 11 wem %)
(4) ’Wﬁlﬂ?ﬁ'laﬂ'{mW%l

]
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Select the Option tj

question mayk (o - at wij replace the
series : (?) in the followin
) g number
o bﬁ\
369, 5 ey \ d
369,385, 710, 774, 531, _ s
o y
M s "
(2) 802
() 809
4) 810

|;|n|“
4

L

|

4.  Raveena’s house fades North. She leaves from
the back gate of her héuse and walks 14 m.
Then she turns left-and walks 30 m. Then
she turns left and walks 10 m. She then turns
left and walks 36 m. How many meters away
and in which direction is she from her
home ?

(1) 20 meters South

(2) 68 meters Sotithi=East

3) 30 meters Wé."it

]

!
",

’

(4) 20 meters East’ =

Hgggil?

B4 | 3

PRI-2023 E%%

HEA-
T foreren 71 = it s FrefatEd
sjere i o o (7) 1 T4 A TR

/‘_\
=
369,585, 710, 774, 803, () —

(1) 823 S0
o

(2)  802p¢ c
X4
) 809
(4) 810
b} /
~ \\[o
y )/
w2

WM 1 76H ST §1 9 30 9% F
frod TE™ ¥ T Freast 14 Hiex =t ¥
FHH IS e A4 TS 30 T Tl § | TeIwE
e =4 qeH 10 WX Jet 31 fm, 9% =i
wae&nﬁawﬁ%&%aﬁm%ﬁmﬂ\gﬂ

W ek frw fam %2 230
(1) 20 ¥R, efim ] LR
06 ﬁgjﬂ\@m )
. i
(2) 68 HI, ﬁm—@iﬁmﬁ\b\ @
(@) 30 WX, . E
/qﬁm: \ b ]

e

(4) 20 i, T& '

S1

Scanned by CamScanner



5. Given below is a question followed by two
statements numbered 1 and 11, cach
containing some information. Decide which
of the statement/s is/are sufficient to answer
the question,

Shaurya got the final marks in five subjects

P, Q R, S and T (different marks in all the

subjects). In which subject he secured the

highest marks.?
Statement I:  Shaurya secured more
marks in subject ‘R’ than P,
S and T but not more than
Q.

Statement II : Shaurya secured less marks
in “T" than P, Q and R but
not less than ‘S’.

(1) Both the statements I and II together
are not sufficient to answer the
question.

(2) The statement I alone is sufficient to
answer the question while the
statement II alone is not sufficient to
answer the question.

(3) The statement II alone is sufficient to
answer the question while the
statement I alone is not sufficient to
answer the question.

(4)  Both the statements I and II together
are necessary to answer the question.

b 6.  Eight friends D, F, G, H, K, S, R and V are
sitting around a circular table facing towards
centre. ‘K’ is on the immediate right of ‘H’,
. ‘D"is immediate neighbour of ‘K’. “V’ is on
immediate right of ‘D’ Only ‘S’ is between
‘F’and ‘R"."‘G' is not an immediate neighbour
i of V', ‘R’ is immediate neighbour of ‘G’.
Who is the only person sitting between ‘K’
and 'V’ ?

(1) R Q?§$‘D\C\

(2 H
@ = \s}/
4) F \8\

PRI-2023 [5i5% 4

&.

D

A9 wk uva fom o ¥, Fad wrA A Ay

:amn,mwgmmm.mmm% 7.

wfm, fif A=/ H F, vm-m'mﬁq
i &/% ? O
ivf A i PP, Q, R, S 3V T % sifim oy
(aoft farveil 4 zeim-stem SF) T 7y
faus o 3@ gfipan siw gra ey ?

HUT vﬁﬁ?ﬁm*n’ﬁnsmm

i, e faw QR iy

3w R
HOTI: WA A T AP, Q MR Ay
3% wra 6T frg g s f oy
TE |
(1) <F FYA 1R 11 3¢ e ft g 5
I 7 & fory ot T €

2) WIWﬁmmmiﬁgm

¥ eIt U 11 36, W HIW A
o]

6)) asmn;;%réhmmm%ﬁ%qm
€ VA HU 1 e, W I A iy

(4) <F F 1 3R 1T 3 e T w
A F o srevas ¥

38 I D, F, G, H, K, S, R 3R V ¥z &
feom & 7@ #e et guR (emR) W%
R WE 343 1K, ‘H ¥ T T d1 D,
K 1 Frereamudst ¥1 v, ‘D’ ¥ g o

8 s, PORR FdRA g, vE

Frehemm Wit 1 R, G 1 e v

- =

K SR V" iﬁhmmmmﬁé

?? it

(1) R 7~

@ H

B D— :
4) F

!'
i
'
!

]
!
!

il
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A A T

Three statements are given followed by three
conclusions numbered I, 11 and 111, Assuming,
the given statements to be true, even if they
seem to be at variance with commonly
known facts, decide which of the conclusions

logically follow(s) from the statements.
Statements : 1. All shirts are boots.
2. Some boots are scarfs.
3.  No scarf is tie.
Conclusions : 1.  Some ties are scarfs.
II.  No shirt is a tie.
III. Some boots are shirts.
(1)  Only conclusion III follows.
(2) Only conclusions I and II follow.
(3) Only conclusions II and III follow.

(4) Only conclusion I follows.

'K+ L’ means ‘K is son of L/,
‘K—L" means ‘K is daughter of L',
‘KX L’ means ‘K is mother of L',

‘K-+L" means ‘K is brother of L.

If, H+FXE—-T=+S, how is ‘H related to T ?

(1) Daughter

(2) Father
(3) Uncle
(4) Son.
CLAE)
PRI-2023 @+%;

zﬂqzﬁmmm%mﬁmﬁmﬁnn i 11
ﬁ:ﬂnﬁfunﬁzﬂﬁmﬁsﬁmwmaﬁ%ﬂﬁ
?Hmtrmwmaan‘sﬁvzﬁwaml HTGH!
foby T & R @R = A fzo g e A
aﬁﬂm/ﬁﬁﬁﬁdﬁzﬁam%/ﬁzmﬁzgh'ﬂﬂ

w1 E "@2-
2. THREHEE
3. ﬁéﬁﬁ?ﬁ%'qﬁ'ﬁ'f\%lf/
frrend - I.

II. FEFHEzE@el ~

59 o wE E1

I1L. gﬁﬁ?{?m%lw"
(1) Faa f=rd 11 fwe 31
(2) had fend 1 3R 11 freed €

f

ge

(3) haa f=Rd 11 3R 1 Fsed €1 -

(4) waa Frepd 1 Free 7

'K+ L =1 31fuwm & i 'K, ‘L 1 @ &1
‘K—L = e & f6 K, L G )
‘Kx L' &1 3Afwm § f6 K, ‘L = | 81

K+ L' 1 1w ® fw K, L& Wi 3

A H+FXE-T+S¥q ’H%\ﬁa%rﬁﬁu
\ i 6’1\

32§ WA fof &
LA
(1 T (z

\
(2) faan s
(3) =m=m
4

S1
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v ‘h'l'n l"l'l”‘\' I”“I lh""“‘
. : Y “l““" l“‘ l‘
Wi ‘-,I‘llll
“. l

9. 9 % T - N
o labelled as Assertion (A) and Reason (R). if f*n mE, KL (A) 7J'TI'[’J'I'[R) T By
giv tver flows wog)
rtion (A) : Kaveri o 3Tf'lm?.91:| , ]
BEESHS wards, (A) ' ﬁﬁr‘::lm m f".'?n 1 QT’
: R):  River Kaveri falls into )y TR0 (1
RN Bay of Bengal, W g T A 5 1
Select correct answer with the help of code e H) W TT;:F, firey % ¢
) e falee by 'u,' ' Bl a5 7
(1) (A) is false but (R) is true, l (1) (A) 1 § fe fl {h‘
(2) Both (A) and (R) are trye and (R) is I (2) (A) . T (R) 7
correct explanation of (A), l (Rl "Fﬁ el ; ‘h’ (R), (A) %
(3)  Both (A) and (R) are true by (R) is not | (3) ( A) 'mJ
the correct explanation of (A). (R) Kl T § ﬁf-”[ (R), (A) =
(4)  (A)is true but (R) is false, I (4) ("\) 7?”"} ;::1 &
oa ! (R) e 7
10. There are six movies, K, L, M, N, O and P, 10. T T KL M, N,O s p W’J""H?: 12
and these are to be played o Six different ] ey 3y FN T i T ‘
days from Monday to Saturday In a sjx days % fa T 3 oo | % _q: "
long art festival but not Necessarily in th Y i o
y e B’qﬁmqﬁ'@mm| qaﬁm(fe’rm)-m
same order. Each day is ; assigned for one of .
FE, WA, wor, fger i dh T3
the genre : Drama, Comedy Musica], m%ﬁfmwﬁ? P21 o fa TEH
Suspense, Thriller and Horror. There i only EEIEERE: & 7 4 = & wotas 5
one movie from each genre and only gne T -
movie can be played per day, as follows - .
. "M’ is Musical and playson Wednesday . M’ Hifrares: % 3 THER ferams T
il :
. "N’ plays on Thursday. . N’ Feefaan =t fear s i1
* 'O plays on Tuesday. * 'O UTeER 9 foans st 3
* 'P'is a drama and plays neither on * P TEE R R qrertam fomi 13-
Thursday nor on Friday. ST &, 1 YFRaR F1 |
* 'L'is a Thriller playing on last day of v L R R i e ¥ sitm R fewrd
the week. Bk
* 'K isacomedy. K EEE R
*  Suspensefilmis played between Musical © oY i, Wi et sk
and Drama. ' & <= ¥ fear e 8
Which of the statements is NOT true ? (Qyﬁl\ C Frefefes 3 § 9 w we v @ )
(1) 'K’ is played on Friday \ _ (1) 'K Yher =it feaw wmit
(2) ‘P is played on Monday 2) ‘P 9WaR ﬁ feam et ¥
(3) ‘N’ is not a suspense film : (3) N T FE Wt T g
M ’O’isaHorrorfllm N q(ﬁiﬁmm%l
&
e &‘\\f\&k A %}\ ;@C\ \ \ Mﬂ ~s PRI
" PRI-2023 5i7% Mk g)e — D@m
o\mqn Modant L P e —
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PART - 11 / ¥ - Il
GENERAL AWARENESS / TTWIRT WO

11. ::\;ccm'dmg o All Indig Electricity Statistics
eneral Review 2022, which v the
fulluwinp, state’s per ¢ L_ dmnnl,' the
consumption of electiio }L‘t\‘Pll'tl ultimate
domestic category ? ity is highest under
alegory 7
(I)  Maharashtra
(2) Kerala
B) Goa
(4) Punjab
12.  The power to issue writs in India has been
granted to which of the following by the
Constitution ?
(@) The President
(b)  The Supreme Court
(c)  The High Court
Choose the correct answer from the codes
below :
(1) Only (a) and (c)
(2) Only (a)
(3)  Only (b)
(4) Only (b) and (c)
13. The Constitution of India abolishes the
conferring of titles by the state except for
(a) Military distinction
(b) Academic distinction
(c)  Philanthropic distinction
(d) Sports distinction
Choose the correct answer from the codes
below :
(1) Only (a), () and (d)
(2) Only (a)
(3) Only (a) and (b)
(4) Only (@) and (d)
= E
PRI-2023 i‘:ii’%fi

L —————————

1.

12,

13.

wftre it e wifer seq W
el 2022 % srpm, Frenfen A few 0
W vt il o ufa mi frega ®) o a ool
st &2

(1) werm

(2) Wt
3 mm
(1) vem@m

v gfaum W fz 9 w3 ® wiw v
9 /et domd #2

(a) gfa
(b) I=dH A
() I M

(1) ¥ (a) 3K (c)
(2) w99 (a)
(3) e (b)~
(4) e (b) 3R (c)

g wfaum o ¥ I I
I 1 Iere e ¥
(a) =1 3uify
(b) Hefors Imfy
(c) TirRfEadl (FRITHRY) 9Ty
(d) @« gaEH Iwfy
4 o M e F @ vl s 9T :
(1) &9 (), (c) 3R (d) »
(2) 9 (a)
(3) %aW (a) 3R (b)
4) a9 (a) 3l (d)
S1
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e oo e P F=EZE T
e - -
£ - i - i - — —-s--?:-;:-m-? E
P umede v ommmrs ZIEty il wcinsion | (3) T AEE == Tm S
- - - : T s _ '
# 4l pin f vienk eluczten ! F7 TEATT Th= G- B 2
‘-, i o
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(i Al A

e gt 2 1omnedod By 7
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(1) assarsds (1) fm *
7, gyt (zy #9

e
0 Manyprasn Gretra

R (4y Pz

e ——— S ——— . ——.
-
e
o

ik £ (F ) T2 refEa 2 B
g Tl et %7
(1) fartgmn Jo g7 gy v
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18,

Which business person and philanthropist
authored a book titléd “How to Prevent the
Next Pandemic” in-2022 ?

(1) Mike Bloomberg
(2) Narayan M.““ﬁ)'
(3)  Azim Premji

(4) Bill Gates

19. Which part of the brain is responsible for

precision of voluntary actions and
maintaining the posture and balance of the
body ? ()

(1) Cerebellum —~ -

Fore-brain _

(2)

() Midbrain

Cerebrum

(4)

Hitler’s Nazi ideo]___ogjy__ borrowed from which

of the following scientific theories/ concepts
to propagate views.on racial purity ?

20.

P

3

(A
(1) Doppler effect-,

D, oilaiivi
(2) Theory of SQ:ECfal Relativity

Tl
Survival of the fittest

)
(4) The Law of gravity

E4e
PRI-2023 2%

J

19.

20.

@ fopy ATl AT

arpfrd 4 2022 4 TG

W"W’W?ﬁ’f‘ﬁﬁ?{’ﬁfﬁh@??

(1) rF wAA
(2 =
(3) i oo
(4) et A

ﬁmmaﬁmﬁﬂmﬁﬁm@mﬁa
ﬁgaﬂmr@%?ﬁmqﬁaﬁﬂﬁﬁmm
I & ?

ERLlinled
d-wfeeh

(1)
(2)
(3) WA-HiET=n

ywﬁaﬁﬁ*

ﬁmﬁmﬁﬁam%mw#aﬂﬁ
mﬁmaﬁwﬁﬂmﬁ%mﬁqﬁ#@aﬁ
3 forg Aufe Ragi/ s@umn & dr ot o ?

(1) Sier IvE

() fadm wrew 1 fagid
(3) wETw F ISt ¢

(4) T & A
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22.

AN POr e AN Tndia Survey on HHghes
Facation (2020.21) roport, whleh of the
h‘“““""“ statements dn correct about € oo
Parity ey Higher  Hdueation
(2N o) ?

n

Female  Participation in Hgher

Education for Scheduled Tribes (STu) I

(N

100 per 102 males,

Male participation in | ligher Education
for all categories is 105 per 100 females,

(2)

(3) Female participation in Figher

Education for all categories is 105 per

100 males.

(4)  Male participation in Higher Education
for Scheduled Castes (SCs) is 107 per

100 females.

According to the Economic Survey of India
2022-23, the recent economic history of India
between 2014 and 2022 is analogous to
which other economic phase in terms of the
launch of transformative reforms but yielded

lagged growth dividends ?

(1) 2004 to 2009

(2) 1991 to 1994

(3) 1998 to 2002

(4) 1987 to 1991

EHE
PRI-2023 %%

10

21

e e gorpi s el Al sy

(220 21) "
TR BRIl TR

ot e il B

s e Fomet €183
i a1 Prefieg g

(

cpyfor e A A, ) 1k

(1 _ e
P A L L A LA LI L L
102 o1 100 %1

{

(2) it Afordl % fern et S iy
apefterdt wfa 100 el w1054

aft afii & feu, Zear o f o

(3)
1 vnfterdt wfd 100 79 7105 3
NI

(4) aﬂqﬁ:ﬁ sfedl (A.9.) F 4
g foen @ qEG HT i
100 Afeemsii T 107 7
(J))
3

it anfelr wefamn 2022-23 &

3 2022 ¥ @9 WRa =1 eiferan fdF
feifa § @ fF9 F@s F WG9 ¢
yftedehl anfefe FHR @1 T 4 0
FerEa®y fahr 1 Wi 9e @17

B
)
B =

(1) Ad-2004 F 2009

-

(2 @41991 F 1994
3

(3) =-1998 | 2002

4) 99 1987 & 1991
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| 4 Y
Which of the

\‘\\l‘r\\ ~ e mesia
Ct about reg raitment of women inarmed

fore '

t\N . "

A o after the commoencement of the
Alnpath Scheme ?

a ) LTI .
(a) Recruitment of women in the Indian

Army

l\  J N .
(M) Recruitment of women in the Indian

Navy only below the rank of officer

- D -
(€©)  Recruitment of women in the Indian

Navy as both officer and satlor

Choose the correct answer from the codes
below ¢

(1) Only (a) and (c) are correct.
(2)  Only (a) is correct,
(3)  Only (a) and (b) are correct.

(1)  Only (b) and (c) are correct.

Who among the following was/were a @

supporter(s) of an orientalist vision of
learning in Colonial India based on

knowledge of ancient Indian texts and
languages ?

(n)  William Jones

(b) James Mill

(c)  Thomas Macaulay

Choose the correct answer from the codes
below :

(1) Only (b) and (c)

(2) Only (a)

3) Only ()

(4) Only () and (b)

Gl 11
RI-2023 w

tollowing statement/s is/are Gﬁ

NIEY 7SE S B9 I e gel 5
nfeenaii w1 el A gafia freafafaa § 9 36
/N e i 42

() wfeensii wt s ae T e

(b)  wficensil ) e s % 6 2
@ Tt A

(c) wfeensii @t v @ = o sfuwr ik
fere (Fer) 1 vei T vl

AR faw M e A @ IR

(1) e (a) 3 (c) H& &1
(2) Fad (a) FEI I~

(3) & (a) 3 (b) WA T
(@) ¥ (b) 3R () T &I

I WRE T 3R wrsi & {9 W S,
sfufafers wRa § WreAamel <A S1/F §HYE/
g freforfaa § | @ a1/9?

(a) fafera si=a
(b) = fae
(c) TTd TRt

(1) &ad (b) 3N ()
(2) FFE (a) »
(3) & (o)

(4) A (a) 3R (b)

S1
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%5 Which of yye

hip} :
es il :
&hest installed Capacity of renewable
Power throy

fo ]
Hnw:np, two states have the

gph wind energy as on April,

1

570, 2023 F1 frafa & ﬁwﬁrmf-qu

2023 7

(1) Karnataka and Tamil Nadu '
(2) Gujarat and Rajasthan ,,
(3) Maharastra and Gujaral I
(4) Tamil Nadu and Gujarat ,'

Consider the following statements regarding
the UNDP’s Global Multidimensional poverty
Index (MPI) and identify the incorrect

26.

answer .

(1)

The MPI complements the international
US $ 1.90-a-day poverty line.

|

(2) The MPI measures multidimensional
poverty across over 100 developing
countries.

(3) The MPI defines poverty in monetary
terms only. ‘

(4) Ahigher value on the MPI range implies

higher multidimensional poverty.

27. Which of the following is the correct
dimensional equation of volume [V] ?

& mﬂmum—ﬂ"ﬁwﬂﬂﬂm
ferega 1 Tl Honfoa o 27
(1) FAZH 27 afgerg
(2) TR A THAE
(3) WWW‘/
(4) Al Z e b

‘Wwﬁmmuﬁmmarﬁ“ gz i
g (T A.AE.) F d@49 § f=isa 544
W faan wifau #7 7o 39 H1 (G

T :
TH.f. R, AU E FAETE T

(1)
1.90-9fq-fed =T @ M FHTIT Fal
gl

(2) THALE. H 100 ¥ SR fFwEea
1 agemErHt A w1 A9 53 5@ 3

(3) THM.IE. ¥ Faa difas YR W §
Frefen =81 ofmen & T & (O

(4) THULIE. ¥ IH WH H a9 ST

agarart fsar 9§

27. freifRa 9 @ 01 3@ [V] &1 e fai
AR 2

(1) [ML-3TY (1) ML-T]
() MOL3T ll (2) [MOL3TY)
@) MLT] () [MOLT-]
4) [MLT™? 4) [MLT-2
PRI-2023 5% 12 1
.
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8.

R R R =

Whi : '
ch of the following options is correct

abouyt .
the structure of school education

Specified by the Nati :
oo 5 \ National Education Policy,

1) 54344
(2) 1042

(B) 2+3+3+4
(4) 5+3+3+4

Who won the gold medal in the Women's
Individual compound event at the Archery
World Cup Stage 1, 2023 ?

(1) Chem Chieh Lun

(2) Sara Lopez

(3) Jyot Surekha Vennam
(4) Ella Gibson

Assertion (A) :

The British introduced the system of “separate
electorates’ for elections which continued to
be in practice during the First General
Election in post-independence India.
Reason (R) :

The system of ‘separate electorates” means
that to elect a representative from a particular
community, only those voters will be eligible
who belong to that particular community.

Choose the correct answer from the codes

below :

(1) Neither (A) nor (R) is correct.

(2) (A) is correct but (R) is wrong,.

(3) (A) is wrong but (R) is correct.

(4) Both (A) and (R) are correct and (R)
explains (A).

E4E
2023 EJJ‘%
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28,

29,

30.

fafafér el AT

ey foen =ifa, 2020 &1
faren =fifa, 202 e 1 e

w7

(1) 5+3+4
2) 10+2

(3) 2+3+3+4
(4) 5+3+3+4,

AR AT (A) :

fafir 3 et 3 feg " gores Frafess Heat' 1
el @1 QT R Sl aE WA A
T 9 GAE & QI SR @

FAOT (R) :
yers Frerteren Ted | o 31w @ T feell e
fam @ whafafy =i feifag S0 ?q 39 9Ed
fad 3 M HaeH A 6 4 g

e fag T Fe 4 | wE I A

(1) YA @ (A) T (R) TR B
(2) (A) W&l § fheg (R) o €
3) (A) e € g (R) TR R

(3)
(4) (A) 3R (R) 3 7@ ¥ 3k (R) T () F
TS B §

S1
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PART - Il
GENERAL ENGLISH 16. |
" : { . e
@ Choose the option in which the given | 34, The house with all its contents .
sentence has been changed into passive voice. insured last year,
It is time to ring the bell. (1) are
(1) Thebellis rung by this time.
(2) were |
(3) Itis time for the bell to be rung. »
(3) It was time to have rung the bell. () have been
(
(#) The bell should be ung b}' this time. (4) was .
- [
32, Fillinthe blank in the following sentence with I
the help of given options. 35.  Choose the option in which the foJ,, |
If you helped me, I the words/phrases have been COore
examination. rearranged to form a sentence.
- - 3-. -
(1) would have passed , (A) in a basket L;m
| (2) passed \
| (B) islike an apple 37. )
(3)  will pass
4)  would péss (©) ofsilver
(D) of gold
(33 - 34) Fill in the blanks in the following (E A
sentences with the help of given options. )  aword discreetly spoken
33. i .
(1) no article $ 5 O), (B) < .
@ a @ ©©. @), @), g -
3) an 3
( ) L ( ) (E), (D)’ (C), (A), (B)
(4) the
@)
P ® 6. ©), @), (q |,
PRI-2023 a7 14
{ PRI
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36. e
I‘*l‘?“llfy the part of the following sentence I@‘ She had brazenly admitted him bk fnf0
which has an error. |

1008,

The rise and fall / of the tides / depend /

(A) (B) (C) The underlined word in the above septence

. can be correctly replaced by :

on the moon.

(D) l " (1) modestly 4
1) (A) -

() (2)  humbly

(2) (D)e
(@) (©

(3)  boldly &
4) (B
) cooly )

(37 - 38) Fill in the blanks in the following
sentences with the help of ;,wm upt\unq

Don’t on Paul. He did his best, a
o th His knowledge of the subject is just

(1) beat away l; -_) - pt‘dvslrim\.
i _"'\
(2) beat down t‘-’
: \] The underlined word in the above sentence
(3)  beatup s Dbt is nearly opposite in meaning to :
(4)  beat off
(1) inmginulife
38. The bride was by her father.
. (2)  colourless “-L
(1) given off ! ‘.]
(2) P,iVl‘n i“ \ " (\\) duu A
™D
(3) givenup ™ ’.
()) (4) old d
(4) given away > ¢
%hg;' ( ) 15
'PRI-2023 ¥
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PART - 111
GENERALHINDI -
' TFRT W
(1) 39 s wm =9 f (47 - ° ‘ N
(@) W =Ty T T S &fz*ﬁ%amﬁﬂsﬁmﬁﬂl?:n?%
() ™ agwas e st = &1 afes Tl ST T sy

M) SR = = Fen i

2. "SegEr =g T R
(1) &=
(2) =HYRE WA
(3) st WAM
(4) &8 9 ™

@ ' IM3-313 Y PR HerEt Y €
(1) 39« &
(2) YYETEY T
(3) @EIIW
(4) TEEA

) 44. '=dig’ w1 Siy-fa=sg wm
(1) wFa+dz
(2) HiF+3
(3) FHEI+3R
(4) Hfa+3g

45. Frefafad & ‘swa’ 1 vt w6 3§
(1) Heh
(2 T
¥ =
(4) =

46. Frefrfan foeitmiell i 1 s 7 3 -

(1) Ffea-w@
(2) JI=-3F
(3) sa-fam
(4) emfayia-wgyia
E4E
PRI-2023 5325

w#mm??ﬁa{ﬁﬁmfﬂn?mh
o 1 & for @e @ T, WS T AT, oy,
R A e o § S 379a aTen a9 € T,

ﬁ_ﬁﬁ?ﬁa@ﬁmtﬁﬁmme
s T & o ol g B e e TR sy
mﬁfﬁﬁﬁ,ﬁmmm%l

47, ‘fieit ¥ 9 6 fag ®
1) - el g
2) < e B F A dm ¥
(3) < el W BiE & A WA T
(4) SN - YT d W

48. qﬁﬁmaﬁﬁaﬁaﬁm%
(2) S TE-FER S )
(4) <N el ¥ et W dm ¥

49. 9@ F @5 fFg afuw fiem 2
(1) o= gl 1 e T g e
(2) Wﬁﬂﬁtgﬁ%l
() o = A ¥
(4) . T’hﬁ@ﬁrtﬁlq@w%‘

50. ‘®UE' Wt
(1) waw S’
(2) weER
(3) AR
4) =T

Y

N
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